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Problem 1 (20 Points)

dwmFulassdavyuduans:

a.) ﬂqs::u%umuﬁmeﬂlmﬂuﬂuff (zero force members) AAURARSUUURARY (4 AZIWY)
b.) @mmwmﬁﬁ?ﬂqﬁaﬂﬁgm A99M A uaz F (4 Azuuw)

¢.) amussmelugaddugau CA, CD, AD uaz AB Tmﬂ‘f‘:%'amifamﬂ&u (method of joint only)
(6 AzLLWY)

d.)y asmussmelusesiudin DI, DE, uae BE {nedgfinwiniu (method of section only) (6

AZILLL)

2 kN







Problem 2 (25 Peoints)
From the following figure, compute the support reactions at A and C. (B is hinge.) Draw the

shear and moment curves for each member of the frame. Sketch the deflected shape.

2 kKN/m







Problem 3 (25 Points)
Using the moment-area method, compute the slope and deflection under 32 kips load at B.

Reactions are given. = 510 in*and E = 29,000 kips/in? . Sketch the deflected shape.

32 kips 32 kips

9 kipoftC

96 kip-ft

‘F—.IZ’-—-DL—IZ’—-";-IZ'—»L——-IZ’ “‘

R, = 16 kips Rc=32kips Ry=16kips






Problem 4 (25 Points)
For the cable structure shown below, compute the maximum and minimum tension in the

cable BD, the tension in cable AB, the support reactions at D and the resultant force in

member BE.
A 100kg/m
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Problem 5 (30 Points)

Determine the slope and the vertical displacement of point C on the frame as shown below,
Use £=200 GPa, I = 15(10°) mm?.

5kN
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